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=lx2=2
m2x2=4
"=4x2=8
=5x2=10
"6x2=12
2 x tables “7x2=14

"=8x2=16

9x2=18

10x2=20

11x2=22

12x2=24



"=1x5=5
m2x5=10
"4x5=20
"5x5=25
=6x5=230
5 x tables " 7x5=35

=8x5-40

9x5=45

10x 5 =250

11x5=255

12x5=60



" 1) 10lotsof21is =
=2)2x8=
=3)25+ 13 =
Arithmetic =4)36-12=
=5)10x10x10=

= 6) 10 more than 37 is




The 5 times-table

0 a) Match the picture to the times-table fact.
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3 x5 2 x5 1 x5 5x5
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a b) Draw a picture to show 4 x 5
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e a) Complete the number line.

b) Which times-table does the number
line show?

Tick your answer.
1 times-table 2 times-table

5 times-table

How do you know?

(@,
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e Complete the number sentences.

a) 5x5= f) =11 x5
b) =9x5 g) 5 x =5
) 5x6= h) 5 x 0 =
d) 5 x = 40 i) 10 = 5 x

e) 35 = x 5 j) x 5 =60
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o How much money does Ron have?

Complete the multiplication.

Ron has P.
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e Write <, > or = to compare the calculations. @

7 x5 Q 5x 8
6 x 5 Q 4 x5+2x5
2 x5 Q 3x5-1x%x5
12 x 2 Q 2 x 12
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White

0 A sandwich costs £2 and a box of crayons @
costs £5

Jack buys 5 sandwiches and 3 boxes of crayons.

How much does he spend in total?

Jack spends £
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Maths Mastery - Multiplication and Division

2. Would you rather have 3 boxes with 10
biscuits in or 5 boxes with 5 biscuits in?
Explain your reasoning.

Would you rather
have & trays with 5
apples in or 2 trays
with 10 apples in?
Explain your
reasoning.

Maths Mastery - Multiplication and Division

3. True or false? Explain your reasoning!




